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char name[] = "John";
int age = 12;

char gender[] = 'H#';
char phone[] = '21567234"';
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/Egar namel[] = "John"; ‘\\

int agel = 12;
char genderl[] = '5';
char phonel[] = '21567234"'; Eﬁa B KD .
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char name2[] = “May";

int age2 = 11;

char gender2[] = ‘Z';

char phone2[] = ‘13248945";
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int age=[12, 11, ..];
char gender[][]=['&", 'Z#‘,
char phonel[][]=["'21567234",
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char name[][]=["John", "May“, ..]1;
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struct studentStruct {
char name[10];

int age;

char gender[4];

char phone[10];
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énclude <stdio.h> \ Gnclude <stdio.h> \
struct pointStruct { struct {
int x; int x;

int y; A int y;
<—/\Y } pointl, point2;

} pointl, point2;

int main() int main()
{ {

} return 0; A L return 0;
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struct pointStruct {
int Xx;
int vy;

b

int main()

{
struct pointStruct pointil;
struct pointStruct point2;

return 0;
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struct pointStruct { pointi1={13,14}; point2={x:3,y:4};
1nt X; Pointl Point2
int y; .
} pointl, point2; x = 13 X =3
y = 14 y = 4
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int Xx;
int vy;
tpointl, point2;

typedef struct pointStruct pointType;

int main()

{

\\\\feturn 0;
t

#include <stdio.h>

struct pointStruct {

0

pointType pointl = {13, 14};
pointType point2 = {x: 3, y: 4}
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/;;ruct polntStruct
int Xx;
int vy;
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struct pointStruct
struct pointStruct

QtrPoint = anintl;

{

g

+
mH

intl;
trPoint;

AaiE

2351 2 5 3

* IR R EEIRE

[&) 5% 15 FHEXLE (&)

A/ 0O

TR AR E IR 1R A

RAEBERE -




An s fE Sl

. RAEIRNIESIIESH
struct pointStruct { = S A5 4 42 e 5|

int X;
int vy;
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struct pointStruct pointil[10];
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int main()

struct pointStruct point[3]
{37 5' ICI}'
{47 1' 'a'}'

oY : %d, p0.z: %c\n", point[0].x, point[0].y, );
printf(" p1 X: %d, p1 y %d, pl.z: %c\n", point[1].x, point[1].y, point[1].z);

printf("p2.x: %d, p2.y: %d, p2.z: %c\n", point[2].x, point[2].y, point[2].z);

return 0;
}
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struct pointStruct pointl;

pointl.x = 13;
pointl.y = 14;
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struct pointStruct pointil;

pointl.x = 13;

pointl.y = 14;
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25A T — call by value

include <stdio.h>
struct pointStruct {
int x;
int y;
g
typedef struct pointStruct pointType;

int showPoint}(pointType point)
{
printf("[showPoint1]x:
point.x = 10;
point.y = 13;
printf("[showPoint2]x:
return 0;

}
int main()
{
struct pointStruct point =
showPoint(point);
printf("[main]x:
return 0;

{3, 5};

%d, Vy:

0

%d, y: %d\n", point.x, point.y);

%d, y: %d\n", point.x, point.y);

%d\n", point.
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X, point.y);
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int x; EEGBIOCL - ERRARET
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,‘HT%E’MEZ“ ERESMNEIEULE -

typedef struct pointStruct pointType;

int showPointf (pointType *point

{
printf("[showPoint1]x: %d, y: %d\n", point->x, point->y); .
point->x = 10; BiTsE R
point->y = 13; .
Egiﬂ;:(@FShOWPOIntZ]X: %d, y: %d\n", point->x, point->y); dice - struct $ /%‘1& :t:*ﬁg,ﬂ.
1 X H, -byvalue.exe
nt mai i
?” el [showPointl]x: 3, y: 5
struct pointStruct point = {3, 5}; [showPoint2]x: 10, y: 13
showPoint(&point);

printf("[main]x: %d, y: %d\n", point.x, point.y); [main]x: 3, Y- 2

return 0; — N '—-
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include <stdio.h> initPoint() ERI[EER
struct pointStruct {

int x; ERAIRES pointType
int y; fEts

b

typedef struct pointStruct pointType;

pointType initPoint(int x, int y)

pointType point;
point.x - X; 1755 R
return point;

}

int main()

{

dice - struct $ ./ [O{HL&5KE .exe
50 12

pointType point; x: 50, y: 12
int x, vy; 18dice
scanf("%d %d", &x, &y);

point = initPoint(x, vy)

printf("x: %d, y: %d\n", point.x,
return 0;




IE 1 oN) Bk S



=1 4518 V.S, 84l

- fotm AR A SA ML - ORISR — A EERE

- [251 : EREEREENES
« Bl: A fruits Bﬁiﬁﬁuﬁz'z"%ﬁﬂﬁz%lﬁﬁ%

ZEER -

« 518 . ZREEIA
- Bl:15 F3 point E &3]

EEREARRE
— (& AR Y

ﬁ+“n+ i

struct pointStruct {
int x;
int y;

} point;
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#include <stdio.h> \
struct point {

il

typedef struct point t_point;

int main()

{ Gt NN A= b SRS

B2 B T2 O] LUARERG -
t_point p; 1755 R
scanf("%d", &point);

p.point = point;

printf("p.point: %d\n", p.point);
return 0;
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Ist|0] | 4bytes
ist[2] | 4bytes
ist[3] | 4bytes

A —EREENCIEEZT/M ist[4] | 4bytes
sizeof(int) * 5 => 20 bytes
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name[1] 1bytes
EENECIRIEACE
name[9] 1bytes
struct studentStruct age 4bytes
gender[0] 1bytes
(;har name[10]; gender[1] 1bytes
int age;

char gender[4]; gender(2] 1bytes
char phone[10]; gender[3] 1bytes
/ phone[0] 1bytes
phone[1] 1bytes

GH—EEENCIEREZEE
10+4+4+10=> 28 bytes phone[9] 1bytes
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#tinclude <stdio.h> FEH sizeof() B24EH

1Bt =3 GCIEAS A & — 4518 (2)

ERECIRIE /)& 32
stzﬁgi z;;gﬁggﬁFrUCt { bytes - BARHR{HE
e ot , (28bytes) I A/ NA—1x 2
char gender[4];
char phonel[10]; " ©
}student;
ITHE R

int main()

{

iE JHEH g
= HZ B

printf("size: %d\n", sizeof(student));

return 0; T
} lSdice‘
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*EE /E\ 3 . H r,E\ = @ ,%D = (4) name[0] 1bytes
name[1] 1bytes

Zo IS aTac = —fEis : :
/ . \ name[9] 1bytes

#include <stdio.h> \ X —
ytes
Stl‘ﬁct Stu‘*?;é??u“ { SEERGENEIEREEE X 1bytes

char namel 29l 10+2+4+4+10+2=32 bytes 4

int age, y age bytes
char gender[4]; gender[0] 1bytes
}SEEZZnEhone[M] ! gender[1] 1bytes
. . ’ gender[2] 1bytes
%nt main() gender[3] 1bytes
printf("size: %d\n", sizeof(student)); phone[0] 1bytes
return 0; %E&I\;%EE’\JEWHEI phone[1] 1bytes

- - - 2bytes FIZ AR & # f
d?ce Totet 8 RRBRE-GH o TSRS phonels] | _tbytes
Sz e T2 5 /N 225 \ X 1bytes
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#include <stdio.h> V@Eﬁ 7E§§(§5__% ,,,,, Eﬂ)ﬂjj{d\ﬁé

*Char namelioly 15 I BIA ) -
int age; sizeof (A5 1 £ 8L[0]) * &5 K /)N

char gender[4];
char phone[10];
}student[10];

int main()

{ 45 ok
printf("size: %d\n*,$izeof(student[0])*10); AT 5E R

} return 0; dice - struct $ ./
/ %Eﬂﬁ-ﬁ%@?ﬂ exe

size: 320

= 0
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typedef BEBFENEIREIEE

float
double
echar

struct FERTHE

L

» typedef: & B EIRR B Al 24 (1X51%)
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Int =*
float =*
double *
char =*

struct EFRERTE *
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.chVarl B2 chVar2

ERFITERERE

a

int intVarl

sintVarl B intVar2
B 2 E R AR

typedef int myInt;

myInt intVar2

4

typedef char myChar;
char chVaril 'c';
ICI;

10;
10;

myChar chVar2 =

\.

a

typedef char* myCharPtr;
char *chPtrVaril &chVaril;
myCharPtr chPtrVar2 &chVar2;

«chPtrVarl 3 chPtrVar2
B E2FciEEE R AR
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1B =24 typedef — TREZ SR ALRE(2)
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#include <stdio.h> ‘\\\\

typedef int myInt;
typedef char myChar;
typedef char* myCharPtr;

M1TsE R

int main()

t dice - struct $§ ./typedeflfi A & F}HIHE .exe

myInt intVar = 10; )

myChar chvar = 'c' intvar: 10

myCharPtr chPtrVar = &chVar; chvVar: ¢

printf("intvar: %d\n", intVar); value of .ChPtrVar: C ‘
printf("chvar: %c\n", chvar); — R X A

printf("value of chPtrVar: %c\n", *chPtrVar);
return 0;
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[ struct pointStruct { |

int x;
int vy;

s

typedef struct pointStruct
pointType;

] B

\

)\

SR AYRE struct (1)

s )

typedef struct pointStruct
{ o
int Xx;
int y;
}pointType;

55 W& [E) 1% = 5
struct pointStruct
—{& pointType BY5I
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1824 typedef — BE] ERIALEE struct (2)

pedet s & 5710 @+ ade
//;Z;clude <stdio.h>

//;;;clude <stdio.h>

struct pointStruct {

~N

int x; typedef struct pointStruct {
int y; int Xx;
b int y;
}pointType;
typedef struct pointStruct
pointType; int main()

{
pointType pointl;
pointType point2;

int main()

{
pointType pointl;
pointType point2;
return 0;

}

return 0;

}
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